MATH 045
Practice for Final Exam    Sp2012                   Name:_____________________________

Simplify each of the following, performing all operations.
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(Write answer as a fraction.)

Simplify by combining like terms:
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17)  2(3x + 5y) – (x – 3y) 
Solve:  
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27)  Write an algebraic expression for:  Eight less five times a number.

28)  Round to the nearest hundredth:  5.8792

29)  Write as a percent 0.0037

30)  Write as a mixed number 
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31)  Write as a percent 
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32)  Write 982% as a decimal.

33)  Write 982% as a fraction or mixed number.

34)  Evaluate the expression 
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35)  What is 8% of 120?

36)  Find the circumference and area of a circle with a diameter of 2.4 cm. ( Use 3.14 for π).
37)  If 
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 cups of flour are needed for a recipe, how much is needed for 
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 of the recipe?

38)  A seamstress needs to cut 
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-inch pieces of ribbon from a roll that is 9 feet long.  How many whole pieces can she get from the roll?

39)  A 160 pound man takes 4 cc. of an antibiotic.  At this rate, how much should a child weighing 50 pounds take?

40)  Find the simple interest on $180 invested for 3 years at a rate of 6%.

41)  Find the area and the perimeter of a rectangle with a length of 16 feet and a width of 4 yards.  *Use feet in the units of your answer.

42)  A $400 television is on sale for 20% off.  After the discount is applied, 6% sales tax is added.  What is the total cost of the television, with tax?

43)  Five times a number less 4 equals three times the same number.  Find the number.

44)  How many ounces is 3 pounds?

45)  How many millimeters are in 0.5 kilometers?

46)  How many fluid ounces are in 2 quarts?

47)  How many liters does 5700 milliliters equal?

48)  Convert 6 km to miles. Round to the nearest tenth.  (use 1 km = 0.62 mi)

49)  Convert 15 oz to grams.  Round to the nearest  tenth.  (use 
[image: image33.wmf]28.35g1oz

=

)
50)  Convert 104(F to degrees Celsius.

                                                      Answers are on the back.

Answers

1) -18

2) –25.2

3) 
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4) 10
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6) 4

7) 10
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12)  9.04

13)  144.9

14)  0.148

15)  
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16)  –10x   

17)  5x + 13y
18)  -1
19) x = –1 
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23)  x = – 5.03

24)  x = 7

25)  x = 9.9

26)  
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27)  8 – 5x

28)  5.88

29)  0.37%

30)  
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31)  120%
32)   9.82
33)  
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34)  –1 

35)  x = 9.6

36)  C = 7.536 cm; A = 4.5216 cm2
37)  
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38)  39 pieces

39)  
[image: image53.wmf]4

5

cc  or 1.25 cc
40)  $32.40 

41)  A = 192
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 ; P = 56 ft.

42)  $339.20

43)  x = 2

44)  48 oz

45)  500,000 mm

46)  64 fl oz

47)  5.7 L

48)  3.7 mi

49)  425.3 g

50)  
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